Types of Quadrilaterals

Exercise 65:
Solution 1:
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1. The diagonals of a square are congruent.
S (QS) = I(PR)
I(PR)=6 cm ...(given)
S 1{Q8)=6 cm

2. The diagonals of a square bisect each other.

I(QO)=%xI(QS)=%x6=BCm

3. The diagonals of a square bisect each other.

L(poy=1

2xI(PR)=éx6=3cm

4. Each diagonal of a square is the perpendicular bisector of the other.
.. m£LPQOS = 90r



Solution 2:

1. The diagonals of a rectangle are congruent.
S(QS)=I(PR)=5cm

2. The diagonals of a rectangle bisect each other.
- 1(0Q) = —é < (QS) = é x5=2.5cm

- I(OR) = % <I(PR) = %x St om

Solution 3:

1. All the sides of a rhombus are congruent
SIAB)=I(BC)=1(CD) = I(AD)
But I(AD) = 4 cm
S1(AB)=I(BC)=I(CD)=4 cm

2. Each diagonal of arhombus is the perpendicular bisector of the other.
L mLAQCD = 90°

3. The diagonals of a rhombus bisect each other.
I(BO)=2.5cm (given)
LBD)=2x2.5=5cm

4. The diagonals of a rhombus bisect each other,
I(AQ)=2 cm (given)
LAC)=2x2=4cm



Solution 4:

B 5cm C

1. The opposite sides of a parallelogram are congruent.
SIDC)=(AB)=3 cm

2. The opposite sides of a parallelogram are congruent
SI(AD)=1(BC)= 5 cm

3. The opposite angles of a parallelogram are congruent
. m£LBCD = m£BAD = 120°

4. The opposite angles of a parallelogram are congruent
. mLABC = m£LADC = 60°



